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1 #BiExR
(1) mA

(BAZ: T - %)
K #OE A O FE | RERCEL] M E 48 at 304z
1|/ Bl 21,881,107 41.9 21,881,107 41.9
2 sE 5 B 178,000 0.3 178,000 0.3
M FORZ A & 32,000 0.1 32,000 0.1
41k %5 # 2 M & 169,000 0.3 169,000 0.3
5 [BRASEREIE P 51 22 1+ 4 94,000 0.2 94,000 0.2
615 N+ % Bl 2 A& 108,000 0.2 108,000 0.2
N B T < T VA b e 2,613,000 5.0 2,613,000 5.0
8 | IR LD B BB BB A & 1 0.0 1 0.0
9 [BR 5 M wE H &+ & 37,000 0.1 37,000 0.1
10| 75 Fe # &2 T & 100,000 0.2 100,000 0.2
1 5 & B 40,000 0.1 40,000 0.1
12| A2 380 22 Ak SR R 1 A A+ 4 7,000 0.0 7,000 0.0
1317 # & &k YA #H & 408,189 0.8 408,189 0.8
1416 OB & OV F OB 960,501 1.8 960,501 1.8
15 7 S & R 12,432,084 23.8 12,432,084 23.8
16|48 X H 4 7,634,731 14.6 7,634,731 14.6
17\ JiE I A 20,274 0.0 20,274 0.0
18|%F Bt 4 26,021 0.1 26,021 0.1
19 |#dk A %o 2,330,226 4.5 2,330,226 4.5
20|k i %o 1,854,768 3.6 1,854,768 3.6
217 I A 204,253 0.4 6,273 210,526 0.4
22| {1 1,033,300 2.0 1,033,300 2.0
= &t 52,163,455| 100.0 6,273 52,169,728| 100.0




(2) meH (B3

(B2 T-H - %)

K i IE BT O A MRk B %H 7t 304z
1 [&% = # 370,499 0.7 370,499 0.7
2 [# % # 4,992,597 9.6 4,992,597 9.6
3R 4 # 26,741,065 51.3 26,741,065 51.3
4 | 4 # 6,800,787  13.0 6,800,787  13.0
5% 18 # 14,482 0.0 14,482 0.0
62 K K E X & 23,789 0.1 23,789 0.1
7 |pE T # 958,476 1.8 958,476 1.8
8 |t N # 4,278,339 8.2 2,898 4,281,237 8.2
9 [1H ] # 1,632,544 3.1 1,632,544 3.1
10|# ) # 4,007,451 7.7 3,375 4,010,826 7.7
11| f& # 2,216,910 4.3 2,216,910 4.3
12| 53 sl 4 14,447 0.0 14,447 0.0
13| 7 i # 112,069 0.2 112,069 0.2
& 7 52,163,455| 100.0 6,273 52,169,728| 100.0

(3) mE (EE R
(HAL: T - %)
X ool i OE AT O BH (MERKEL| MR #E it (37429
A 7 H 6,873,882 13.2 6,873,882| 13.2
‘;’% ® B # 16,299,030  31.2 16,299,030 31.2
o |A & 7 2,216,910 4.3 2,216,910 4.3
# 4N &t 25,389,822|  48.7 0 25,389,822  48.7
Y] 7 e 10,084,867| 19.3 10,084,867  19.3
MOF WM % 212,913 0.4 212,913 0.4
i B # & 7,341,534 14.1 6,273 7,347,807 14.1
H AV 4 1,248,365 2.4 1,248,365 2.4
BEEXOHES-H4 181 0.0 181 0.0
i s & 3,867,154 7.4 3,867,154 7.4
B & M & & 3,906,550 7.5 3,906,550 7.5
¥ fid % 112,069 0.2 112,069 0.2
= 7t 52,163,455 100.0 6,273 52,169,728| 100.0
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% i 1F %8 A = |
21| I A 6,273 [HE EATAR R4 6,273
s 6,273
(2) mH
(HA7: TH)
E/ i 1F %4 7 Ml r o B
8 [+ PN 2 2,898 |k S M AR DR B & 2,898
10| = & 3,375 | I AR DR R 4 3,375
& = 6,273




